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The mean (Expectation) (L), The variance (O 2) , The standard deviation (O),
The coefticient of correlation (r) .
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If P(A|B)= 2, P(B)=22,

then P(ANB) =............

4
25

H=(@)de=(21h J o 13
A DGR =(cNP)J oL

@ w0
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If X is a discrete random variable whose range is
{0,1,2} ,then all of the following functions does
not represent its probability distribution function

except the function

@ Flx) = x28+1

@ f(x) — 2x3+1

@ f(.X') — 3x6+1

Ualaite G5l giie N Gmitn s O 13)
J\ju\tw}up {Yc\c ~}o\u\_ﬂ
43%&\@}5\&\3@&:«;@\
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Answer only one of the following items:

A) If X is a normal random variable whose mean
p =15 and its standard deviation 6 = 5 such
that P (X <k )=0.1587, then find the value
ofk

B) If the lengths of 1500 students follow a normal
distribution whose mean is 175 cm and its
standard deviation is 5 cm, find the number of
students whose lengths are more than 180 cm.

OB (S 4BAY Gk |y

Cacke Btse e 5151 ()
4.:9\):.»&\)¢\0= M@\.@J\Aﬁuj
0=0 )kl
VoA = (I ) J S
2 43 amsl

G AL gkl sl 131 ()
e o daugte Lk )5
A9 e 0 g lnall a8l il g
v&\ﬁﬁ L35 el Ol sue
A e
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n If A and B are two independent event such that : 1085 alitns gl o PS5
P(A)=0.2,P(B)=0.6,then PAUB)=............ OB IZ (P ¢ L v=()

............... = (e

@ o0.12 ® 032 v @ oo (D
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If Z 1s a standard normal variable such that :

P(-a<Z<a)=0.874,thena=

U sbine U 15ize <2 01813
GAVE=(PZ e 2P ] e
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E From the data of the following table:

X

60

50

10

20

30

40

R (PR [JCA W

P

80

90

50

60

70

80

S | o8 | Y.

\. 0« T o

Find Sperman’s rank correlation coefficient

between the two variables X and Y and determine

its type .

e | vl .

O Q. A+ k)a

Olopred 3N LU Jalas !

SAS A9 0 ¢ (0
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Find the mean and the standard deviation of the o okl B g das gzl o
rgndpm Yariable X from the following probability (S Sl S 53
distribution:

VR 0 1 2 ¥ Y \ S
1 5 \ \
f(x) - % % = % T | Ak % ()2
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In the experiment for tossing a regular coin twice, Oy dalatia 595 daked W) &y o B

the probability of appearing a Tail in the second toss S BE seb Sl ¢ adlia
if a Head appears in the first toss equals @ ............ AoV B 5y g0 o yedo 13) AW A )
.................... Soleo Jj}’\

®
@ 1 el

®
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©

©
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If X is a normal random variable whose mean (1) | Uaub By 2o 15t~ O 13

and its standard deviation (6 ), G ol adl 5ty | alawgie
thenP(x >p+15c6)=.......... (GV,0+H < ~)Jab
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Answer only one item from the items of this ¢ V=2 LR > K'Y 3

questions : T AL X v =8

If: Yx=6,Yy=21,Yx*=76,%y*=91,Yxy=56andn=6 1=V 1= o p &

) ) ] s Ok (G5 pa80) Gk | e 18
Find : (first) The correlation coefficient between

: 230 U3 W el dsof Y]
the values of X and Y o s> S Jse ~ 5\ Y5
(second) The regression line equation Y on X o

-w&-‘u‘ﬂ*’ﬁ" Jas Aolae Jq-ﬁi \:\;
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If D is the difference between the ranks of each oD e e O (o w815

corresponding values of the two variables X and Y 09 o ot _eiczald 5 Loluzal
, Y. D? = 0 ,then the correlation coefficient ( 77) 1 it 3T s
between X and Y equals ............ LU dalae 018 ¢ o= 28085

.......... So\ws 02 ¢ o O (00)
@ _1 @ 0 B @ Lk @
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A box contains five identical cards numbered from A3 e Ailaze LBl pund 45 B9due

1 to 5. Two cards are drawn one after another with S Bl SBla o © JIN e
replacing. Find the probability: Qe s &y\}m@ e

i) The sum of the two numbers on the two cards is

a prime number. S22 Wl ouall g gazme 05 O (i)

ii) The product of the two numbers on the two Wl 1ae (8l d\‘ .
cards is less than seven if their sum is a prime A o Jools 355G 0l (1)
number. 31V ope 31 paBladl e o L))
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If X is a continuous random variable whose prob- | 215 Waze L,,\ i Gate ~ OB 13)
ability density function is: 24 JlemY B
A 0 <x<4 &2 gy 20 L
f(x)z{u PG’ TRET ¢ VY }:(w)b
zero ,otherwise Adlas Lkd Lo
Find: (i) P(x <2) (i) P(2 < x < 5) (¥ > ~ ) J(0) amsls
(6 >~ >Y)J (i)
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